





















































































































Lemma 3.6 proof

Naturally we have that

Atle Atle
0

Any edge e a uh EA must start in one vertex

and end in another no loops Thus we have

Ever.IE E.at
and similarly

Even.IE Eate1

From this we get

0 Eatte EAFte

EE IiEA EEv.EiI

EulEv.EiI E.EE


























































































































from the flusserhaltung

we get

E.IEiE Eii nasn
I.EE a E.E i tIE.EEIa E.Ei
By definition of vallfl and netinflow t

1

we get

t.E.it a E.E i tlE.EiiIa E.EEH
vallf net inflow t

finally we have

vallf net inflow t 0

And thus vallf netinflott



No Notile that there exists a

treated s t path c 2,4 t By theorem

3.11 this means that f is not maximal
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2,5 from here we

3.5 2,8 tried multiple possibilities

to see what would

meta valid tow

in
3,5


